Makebltck

CONSTRUCT YOUR DREAMS

GUIDE FOR BUILDING THE

Suitable for use

V11

SMALL TANK

@)
Nt
=
@]
9
0
)
Y4
£
2
x=
=~
=T ¥
~ Q9
— )
c © .=
£ 8 E¥
‘- QO
STEgw
wn <€D 1
e 0o 0 0



Headless Screw M3x5

0
G

Q
a E
= ~ ~
-+ O (@]
=) © ©
Z = =
) &b
s O &
S
>< ><
>< > S S
< N < <
£ £ <
S S ©
— Q =
o)
x < N M
< < - b U
E 2 5 3 5 ¢
<= = N hl — o
wn © © =) > c
o c S
ge] Q = = < A
O m o (' > o
© O] U O .m
© o) &+ = = c
et - © v et 2
c © c ) O (@]
- L (Vs o 9] )
We® o W\«
><
>< >< >< > N <
N <t N N -~ <t
-+
O
S <
<t m Mm =
< Co) o o 2
— (o)) > LN LN O
_ ! 2 o N Q
< <t — I 1 C
N N > = = c
00 00 o S i) o)
o o o o o @)
= £ £ 2 2 ¢
) 0] £ O O <
m oM — @) () V)
A W@OG
A Q! Y
< & 5 < >< < ><
N ~ <t N N N



1x % Beam 0824-96

4x /& Screw M4X14




2X =2 DC Motor-25 Bracket

ZXW DC Motor-25

4x /& Screw M4X14

4x &® Countersunk Screw M3x8




T
o
o)
>
Q
>
a
o
=
S
-

@ Shaft Connector-4

2X

4x PO Screw M4x14

2X ¢ Headless Screw M3x5




Timing Pulley 90T

2X ﬁThreaded Shaft 4X31mm

Shaft Collar 4mm

2X

@ Flange Bearing 4x8x3mm
2X Plastic Ring 4x7x2

4x

2X Nut M4

2X @ Headless Screw M3x5




DONE




